
الطالبة معرفة القوانين الغير مدرجة في الجدول التاليعلى   

𝑆𝑆𝐴 = 𝑛∑(𝑦̅𝑖. − 𝑦̅..)
2

𝑘

𝑖=1

 

𝑆𝑆𝑇 =∑∑(𝑦𝑖𝑗 − 𝑦̅..)
2

𝑛

𝑗=1

𝑘

𝑖=1

 

𝑆𝑆𝐸 =∑∑(𝑦𝑖𝑗 − 𝑦̅𝑖.)
2

𝑛

𝑗=1

𝑘

𝑖=1

 

𝑠1
2 =

𝑆𝑆𝐴

𝑘 − 1
 

𝑠2 =
𝑆𝑆𝐸

𝑘(𝑛 − 1)
 

𝑓 =
𝑠1
2

𝑠2
 

 

𝑆𝑆𝐴 = 𝑏𝑛∑(𝑦̅𝑖.. − 𝑦̅...)
2

𝑎

𝑖=1

 

𝑆𝑆𝐵 = 𝑎𝑛∑(𝑦̅.𝑗. − 𝑦̅...)
2

𝑏

𝑗=1

 

𝑆𝑆(𝐴𝐵) = 𝑛∑∑(𝑦̅𝑖𝑗. − 𝑦̅𝑖. − 𝑦̅.𝑗. + 𝑦̅...)
2

𝑏

𝑗=1

𝑎

𝑖=1

 

𝑆𝑆𝐸 =∑∑∑(𝑦𝑖𝑗𝑘 − 𝑦̅𝑖𝑗.)
2

𝑛

𝑘

𝑏

𝑗=1

𝑎

𝑖=1

 

𝑆𝑆𝑇 =∑∑∑(𝑦𝑖𝑗𝑘 − 𝑦̅...)
2

𝑛

𝑘

𝑏

𝑗=1

𝑎

𝑖=1

 

𝑟 =
𝑆𝑥𝑦

√𝑆𝑥𝑥𝑆𝑦𝑦
 

𝑆𝑥𝑦 =∑(𝑥𝑖 − 𝑥̅)

𝑛

𝑖=1

(𝑦𝑖 − 𝑦̅) 

𝑆𝑥𝑥 =∑(𝑥𝑖 − 𝑥̅)2
𝑛

𝑖=1

 

𝑆𝑦𝑦 =∑(𝑦𝑖 − 𝑦̅)2
𝑛

𝑖=1

 

𝑆1
2 =

𝑆𝑆𝐴

𝑎 − 1
 

𝑆2
2 =

𝑆𝑆𝐵

𝑏 − 1
 

𝑆3
2 =

𝑆𝑆(𝐴𝐵)

(𝑎 − 1)(𝑏 − 1)
 

𝑆2 =
𝑆𝑆𝐸

𝑎𝑏(𝑛 − 1)
 

𝑓1 =
𝑆1
2

𝑆2
 

𝑓2 =
𝑆2
2

𝑆2
 

𝑓3 =
𝑆3
2

𝑆2
 

𝑏1 =
𝑆𝑥𝑦

𝑆𝑥𝑥
 

𝑏1 =
∑ 𝑥𝑖
𝑛
𝑖=1 𝑦𝑖 − 𝑛𝑥̅𝑦̅

∑ 𝑥𝑖
2𝑛

𝑖=1 − 𝑛𝑥̅2
 

𝑏0 = 𝑦̅ − 𝑏1𝑥̅ 

𝑦̂ = 𝑏0 + 𝑏1𝑥 

𝑏1 − 𝑡𝛼/2,(𝑛−2)
𝜎̂

√∑ (𝑥𝑖 − 𝑥̅)2𝑛
𝑖=1

< 𝛽1 < 𝑏1 + 𝑡𝛼/2,(𝑛−2)
𝜎̂

√∑ (𝑥𝑖 − 𝑥̅)2𝑛
𝑖=1

 

𝜎̂2 =
𝑆𝑆𝐸

𝑛 − 2
 

 

𝑅2 = 1 −
𝑆𝑆𝐸

𝑆𝑆𝑇
 𝑟𝑠 = 1 −

6∑ 𝑑𝑖
2𝑛

𝑖=1

𝑛(𝑛2 − 1)
 𝑡 =

𝑏1 − 𝛽10

𝜎̂/√𝑆𝑥𝑥
 

 

 

 


